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1  Explain the principles of population growth in the context of 10
economic development.

OR

1  Give the definition of undeveloped country and explain the
characteristics of it.

2 Give the meaning of unemployment. Explain the scope of
unemployment.

OR

2  Give the meaning of economic unequality and explain the
effects on the society.

3 What is corruption ? Explain the reasons of corruption.

OR

3 What is population policy ? Discuss the population policy in
reference to India.

4  Write short notes : (any five)

(1)
(2)
3)
(4)
(5)
(6)
(7)

Explain the reasons for regional unequality.

Discuss the economic development and economic growth.
Explain the role of student worker in dodge corruption.
The evaluation of economic planning.

Explain the importance of population study.

Urban employment.

Explain the needs of balance regional development.

5  Answer in short : (any five)

(1
2)
3)
4)
()
(6)
(7

What is seasonal unemployment ? Explain.

Explain the reasons behind birth rate.

What is tri-economic ? Explain.

What is mixed economy ? Explain.

Explain the unemployment as hidden unemployment.
What is inflation ? Explain.

What is social legalization ?
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